In P Cf—,o)'

S 350 Mr 5 6~ ’
fn 05065 >3 3 <v’ng'=> 3¢1 In

n

a) p= oS, 6=
R S A A R

]
f———

Far n=31 2 p= 1865 und 6= 4370505 = 304

0

b) p=015 . 6‘/:4;«%.3 >3 = 1n 2 73=>;47’?">5'=/"

4
in > 42 = Bn 2 144 => n >%—4=93 =>n,=ff

. - - A
For ny= 49 > = p=49- L2 12,205 und F:W:.s,as

[ ——— ¢

) bie b)) nur s $9.075= 36,75 6= 305 e sn 4)

—_—

d) p=01 ; 6=1ngras >3 = Tn 253 2 /53

fr > 310 5 n> A0 = n,= 101
3 ]

For hy= 401 = w= h, p= 107-0,7=191 wund b= 9101 9109~ 307

§$350 W g
Ore //a/lr-ft'/'tl"'[/'c'/;All‘/, de f erm ﬁfcﬁl‘,; erner 5"’!0“///Alﬁ’c

quperhalb  des 76~ Jnbvalls lizg # be/ra// 79594 = G 0%¢
Evv Treller  bedeubelt o Frfeén/7 //'{/f auferhal b oy 2 6 - Intorvally

X 20 hlt dre #nzahl oo, r”//” ber 700 ﬂarz'/r/h'/wanfln
X /'.r/' 5100/0/04( Verberl ¢

a) Kern /:’,-5,/”1// ﬂa/ft//zalé des ZF/h/lVVa//J =7 P()(=0)=0,0090{

hinompd F ( 190, 0 0%6,0) = 0,00907

Dre babvschernliyhaert Lorn Evpeb 51 aulSechall oloy 7 6 fntervelly
u erholten 6//ra“//‘ 0,92

6) PCA10£X)= 4-P(x<9) =0,01634
7= binomedf (100, 0.04¢,9) = 6,0469¢

0/‘5 Uafruréc/'n//:é/ah/ mt'na/t.:/‘!ru 70 E}Jfé”/.!.f( du/flrlw'/é
d(l 7 5’— /n/lrya//l 2w evhalltn él/ra// 2 '// ?Z



